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(1) [sauell 2wy aviel ADRd A+l Al slde Yl 0l
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D) sl Al stquadl.
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A M dur B) Rl dw
©) wAls dw D) il 8 <Al
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(A)  dl 40 ¥ 2iddl 98 GuElRML ddld © de dllsadlHl
v

B) HHl -¥sl AL v
(C) AR v Aiud sha-
D) Adl 9q oML Ysdl 2da H8AL ol A

(14) QA0 R U4 & Rds AGRo &g salad <ol ?
(A)  [Buet-l A3l ogl AGA 1l Aa Aldda © d 2Aaq.
B) Ul HlamHl vle 52 dl Qg
©) a9 wa (Bl qeir gaidl Wl 2l 4l d-fl vudid
sl

D) A3 DAl otdl AasiRl 1001 %33 AGA 2ld WA
8 dsll vl sl
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(15) >R »URe s sl s3ell Aoyl Aed
A Re -Aauel B) Re xndaa
©) 2Re sidsy D) Re wHwLA

(16) udle MUl du qud A A4 56 olstd 2ml Al
o33l <Yl ?
A) el MY da s €ld RS,
B) Rl arnadl Al b4l 2 o vlsalmi suddl €idl
RS .
©) &R v wletinl alw 0 qvnadl o).
D) s Ul WA ysaelld siel.

(17) o 2iiR22 otal [euell DUl ~TdAdl o4l % Adsll d

AHAA Ul ALGAA 2 edld® Yldlll Heedl dwRl 8, d-
58 89,

(A) dyel Re B) lad: »iRe
©) Awnadly ke D) WHlxs »Rke

(18) ‘»llRe’ e a3 ¢ C el dlq aee GurYl Al ©.
(A) Audire (B) Account
(C) Audience (D) Accounting

(19) QA R Al 4 R Yol 100 2idRs viga 210 A
o ?

Q) sHelRHl sl <l Avadl dauMs ualt o33 ©.

B) Ul Ysarll-dl stiaRs »igu uglt dwu Ad -8l
23] &l AsA ?

(C) 925 s1MelR-l ysarll W A waeerR 2«AkHA-] Rl
qoaardl ¥3 8.

D) A sildd MLl 2HE Adl S1U AU SIHELRIAL 1 YR+
AHUl AlssA Ad wdl ASA.

(20) ‘@liRex 2 Auld sl Fl B, RS sl Fl il - 21
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(A) @it A} YRA 65 B) 4l oy =3 Aladla sul (&,

(C) yRu+ 65 i veusidle D) [(Bored sied My Su<dl [,
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2 Anugll s w3RAd B, AR AREA s AMa B g dd
| (A1 AR AHd O 7w e 7

wYd)

2 IREa 2ed g ? REod sid@n uundl.

3 Add 2R ved g 7 d-dll AR 55 O 7 L ¥l WA ¥ sU
usil AlaAdl wwall ?

wYd)

3 idRs 2R ved g ? A selqAR 2iRedl 58 Ad g w3 S 7

4 s dl eyl sull ddiRl s 2ilReR ald MHugs sami
il O, g 2iIR2 w3 sdl avid d¥d 55 59 elletdl WML Al ?

wYd)

4 As3 AL 2% AidRs igu-l ugli yudl.

5  REaAl e 2udl, REAL GRall AHAAL.
Yql

5  <{lA vAlpl yd wd © 5 eyl wA 8, d siRel 2wl duedl

1) Rmerd 2isRa sl w2l 3. 5,00,000

2) ol wlell srdided-l R WA 3. 1,20,000

4

(1)

(2)

(3) usiA 20U sruadl Wl 3. 40,000
(4) =20el ooll ode M «su- 3. 55,000
(5)

5) Aslel AR 45w 3. 10,000
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6 AGRPRIA 1l uModl. ABRPL 9L ARl sl wAl 3. 10
2Yq|

6  0A-ud AGRin dil 3 Ad sl ¢ (AS wa 4) 10
(1) wabis wal

2) wolR A YRl

(2)
(3) »3d 4R ddl Msdd H
(4)

4) Aswi-l wel.

ENGLISH VERSION

Instructions : (1) Write answer of all questions in main answer
book.

@) Right side figures show marks of each question.

1 Out of options given for answer give correct and proper 20
answer for following multiple choice questions :

(1) The process of comparing the entries appearing in the
books of accounts, with supporting evidences is knows

as i
(A) Accounting (B) Vouching
(C) Voucher (D) Internal check

(2) Which of the following is not necessary for the purpose
of regulating the profession of auditing in India ?
(A) The Income Tax Act - 1961
(B) The Companies Act - 1956
(C) The Chartered Accountants Act, 1949
(D) Audit code formulated by the Auditor General of
India.
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(3) Which one of the following error does not affect the trial
balance ?

(A) Overcasting of sales book.
(B) Error of principle.

(C) Writing incorrect balance of an account in the trial
balance.

(D) Posting on the wrong side of an account.

(4) Which of the following statements is not considered a
"Limitation of Auditing" ?
(A) Not useful for small business units
(B) Lack of Assurance of completely correct Accounts.
(C) It works as a moral check on the employees.

(D) Auditor's prejudices are reflected in his audit work.

(5) Which one of the following errors is not considered
"clercial error" ?

(A) Wrong allocation of expenditure between capital
and revenue.

(B) Finding out wrong balance of an account.
(C) Mistake in the totalling of subsidiary books.

(D) To carry forward the wrong balance of an account.

(6) When the audit of accounts is carried on by salaried staff
appoint by the business unit, it is called

(A) External Audit (B) Internal Audit
(C) Statutory Audit (D) Social Audit

(7)  Which one of the following tactic of manipulation of
accounts is going to result in overstating of profit ?

(A) Over-valuing the opening stock.
(B) Showing fictitious purchase

(C) Charging revenue expenditure as capital
expenditure.

(D) Suppressing the sales invoices.
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(8) Which of the following statements is not correct ?
(A) Internal Auditor is appointed by the management.

(B) Mistake in the totalling of an account is a clerical
error.

(C) Only responsible official should be authorized to
write off the defective goods or wastages.

(D) Posting on the wrong side of an account will not
affect the trial balance.

(9) Which one of the following is not a relevant criterion
for the correct allocation of expenditure between capital
and revenue ?

(A) Hasit enhanced the earning capacity of the business.

(B) Has the expenditure resulted in acquisition of any
fixed asset.

(C) Has it added to existing fixed assets.

(D) Has the expenditure resulted in increase in owners'
equity.

(10) The auditor should not issue following instruction to his
client before actual audit work is commenced :

(A) To provide a security deposit to cover auditor's fees.
(B) To arrange the vouchers in chronological order.

(C) To prepare a list of closing stock with the method
of valuation.

(D) To prepare schedule of debtors.

(11) Which of the following is one of example of revenue
expenditure ?
(A) Stamp fees and brokerage paid on purchasing
building.
(B) Money spent on purchasing fixed assets.

(C) Expenses for making the cinema-house
air-conditioned.

(D) Money spent to maintain the present efficiency
level of a fixed asset.
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(12) When the Auditor checking of only a few selected
transactions, It 1s known as

(A) Routine checking (B) Surprise checking
(C) Test checking (D) None of these.

(13) Which of the following expenses is not a deferred
revenue expenditure ?

(A) Installation expenses of new plant to be used from
the next year.

(B) Expenses of shifting business
(C) Underwriting commission on issue of share.

(D) Advertisement campaign expenses for introducing
a new product.

(149) Which of the following is not one of the object of
vouching ?

(A) To see that all transactions are correctly recorded
in the books of accounts.

(B) To see that the firm is not going to incur any loss.

(C) To ascertain that no transaction is left out from
being record.

(D) To see that necessary vouchers relating to entries
recorded in book are with the client.

(15) A plan for carrying out audit work prepared by the
auditor in advance is called

(A) Audit Notebook (B) Audit Report
(C) Audit Programme (D) Audit Certificate.

(16) Regarding checking of purchase invoices, which of the
following points should not be kept in mind ?

(A) The purchase invoice should be in the name of the
business.

(B) The goods purchased should be that of the business
of the client.

(C) The date of the invoice should tally with the date
of entry in the purchase book.

(D) Reason for delayed payment by a month.
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(17) When the auditor checks all the transactions entered
in all books of accounts with supporting vouchers and
other documentry evidences, it is known as

(A) Complete Audit (B) Partial Audit
(C) Management Audit (D) Social Audit

(18) The word 'Audit' has been derived from the latin word

' '

(A) Audire (B) Account
(C) Audience (D) Accounting

(19) Which of the following statement is not correct in respect
of Internal check of wages'?

(A) There should be a scientific system of recording the
attendance of all workers.

(B) Internal check for payment of wages must be a well
devised system.

(C) The payment of wages to casual workers should be
certified and approve by a responsible officer.

(D) Even when the wages are paid on the basis of work
perfomed, it is necessary to record time accurately.

(20) 'An Auditor is a watch-dog and not a blood hound' - It
was decided in the famous case of

(A) London and General Bank case

(B) The Blue Bond Navigation Co. Ltd.
(C) Union Bank of Allahabad

(D) Kingston Cotton Mills Company Ltd.

2 'Accountancy is a necessity, while auditing is a luxury.’ 10
Do you agree with this statement ? Why?

OR

2  What is Auditing ? Describe the scope of Auditing. 10
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What is meant by continuous Audit ? State the

disadvantages of such audit. What precautions would you

suggest to overcome the disadvantages ?

OR

What is Internal Audit ? How it is differ by statutory Audit ?

You are appointed as an auditor in a new company.

What are the points you will be bear in your mind at the

time of starting a new audit ?
OR

Suggest internal check system for cash sales.

Define the term Auditing, explain the objects of Auditing.
OR

State whether the following expenses are capital expenditure

or Revenue Expenditure. Give reasons for your answers.

(1) Expenses for making the cinema house airconditioned
Rs. 5,00,000

(2) Cost of stamps for purchase deed of land Rs. 1,20,000
3) Colouring expenses of building Rs. 40,000
4) Goods destroyed by fire Rs. 55,000

(5) Loss on sales of investments Rs. 10,000

Explain the meaning of vouching. Discuss the duties of

an auditor in regard to vouching.

OR

10
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6 How would you vouch the following : (Any two)
(1) Preliminary Expenses.
(2) Salary and wages.
3) Goods sent on consignment

(4) Purchase of Investments.
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